

## NEW TYPE OF CHEBYCHEV-GRSS INEQUALITIES FOR CONVEX FUNCTIONS

ABDALLAH EL FARISSI AND ZINELAÂBIDINE LATREUCH

ABSTRACT. In this paper we will show some new inequalities for convex functions, and we will also make a connection between it and Grüss inequality, which implies the existence of new class of functions satisfied Grüss inequality.

2000 *Mathematics Subject Classification*: 26D15, 26D07.

### INTRODUCTION AND MAIN RESULTS

In 1935, G. Grüss (see [2]) proved the following integral inequality which gives an approximation of the integral of the product in terms of the product of the integrals as follows

$$\begin{aligned} & \left| \frac{1}{b-a} \int_a^b f(x) g(x) dx - \frac{1}{(b-a)^2} \left( \int_a^b f(x) dx \right) \left( \int_a^b g(x) dx \right) \right| \\ & \leq \frac{1}{4} (\Gamma - \gamma) (\Psi - \phi) \end{aligned} \quad (1.1)$$

where  $f, g : [a, b] \rightarrow \mathbb{R}$  are integrable on  $[a, b]$  and satisfy the condition

$$\gamma \leq f(x) \leq \Gamma, \quad \phi \leq g(x) \leq \Psi$$

for each  $x \in [a, b]$ , where  $\gamma, \phi, \Gamma, \Psi$  are given real constants. Moreover, the constant  $\frac{1}{4}$  is sharp in the sense that it cannot be replaced by a smaller one. For a simple proof of (1.1) as well as for some other integral inequalities of Grüss type, see [5, Chapter X] and the papers [2, 6].

The inequality (1.1) has evoked the interest of many researchers and numerous generalizations, variants and extensions have appeared in the literature, to mention a few, see [1, 3, 7, 8] and the references cited therein.

In [4] the second author and B. Belaïdi proved new type of Chebychev's inequality for convex functions and they obtained the following results:

**Theorem A** Let  $f, g : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) functions and  $p : [a, b] \rightarrow \mathbb{R}_+$  be integrable symmetric function about  $x = \frac{a+b}{2}$  (i. e.  $p(a+b-x) = p(x)$ , for all  $x \in [a, b]$ ), then

$$\begin{aligned} & \int_a^b p(x) f(x) g(x) dx + \int_a^b p(x) f(x) g(a+b-x) dx \\ & \geq \frac{2}{\int_a^b p(x) dx} \int_a^b p(x) f(x) dx \int_a^b p(x) g(x) dx. \end{aligned} \quad (1.2)$$

If  $f$  is convex (or concave) and  $g$  is concave (or convex) functions, then the inequality (1.2) is reversed, equality in (1.2) holds if and only if either  $g$  or  $f$  is constant almost everywhere.

**Theorem B** Let  $f, g : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) functions. If  $g$  is symmetric function about  $x = \frac{a+b}{2}$ , then

$$\int_a^b f(x) g(x) dx \geq \frac{1}{b-a} \int_a^b f(x) dx \int_a^b g(x) dx. \quad (1.3)$$

If  $f$  is convex (or concave) and  $g$  is concave (or convex) functions, then the inequality (1.3) is reversed, equality in (1.3) holds if and only if either  $g$  or  $f$  is constant almost everywhere.

**Theorem C** Let  $f, g : [a, b] \rightarrow \mathbb{R}$  where  $f$  is convex function and  $g$  decreasing in  $[a, \frac{a+b}{2}]$  and increasing in  $[\frac{a+b}{2}, b]$ , then the inequality (1.3) holds.

The aim of this paper is to proved a new version of Grüss inequality for convex functions and find a new class of functions satisfies Grüss inequality, before we stat

our results we denote by

$$T(f, g) = \frac{1}{b-a} \int_a^b f(x) g(x) dx + \frac{1}{b-a} \int_a^b f(x) g(a+b-x) dx - \frac{2}{(b-a)^2} \int_a^b f(x) dx \int_a^b g(x) dx, \quad (1.4)$$

and

$$\rho_f = \frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right)$$

and we obtain the following results:

**Theorem 1.1** *Let  $f, g : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) functions, then*

$$0 \leq T(f, g) \leq \frac{1}{2} \rho_f \rho_g, \quad (1.5)$$

where the constant  $\frac{1}{2}$  is sharp in the sense that it cannot be replaced by a smaller one. If  $f$  is convex (or concave) and  $g$  is concave (or convex) functions, then the inequality (1.5) is reversed.

**Corollary 1.1** *Let  $f, g : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) functions such that*

$$\gamma \leq f(x) \leq \Gamma, \quad \phi \leq g(x) \leq \Psi$$

for each  $x \in [a, b]$ , where  $\gamma, \phi, \Gamma, \Psi$  are given real constants. Then

$$\begin{aligned} T(f, g) &\leq \frac{1}{2} \rho_f \rho_g \\ &\leq \frac{1}{2} (\Gamma - \gamma) (\Psi - \phi). \end{aligned} \quad (1.6)$$

where the constant  $\frac{1}{2}$  is sharp in the sense that it cannot be replaced by a smaller one.

**Corollary 1.2** *Let  $f, g : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) functions. If either  $f$  or  $g$  is symmetric function about  $x = \frac{a+b}{2}$ , then*

$$\begin{aligned} & \frac{1}{b-a} \int_a^b f(x) g(x) dx - \frac{1}{(b-a)^2} \left( \int_a^b f(x) dx \right) \left( \int_a^b g(x) dx \right) \\ & \leq \frac{1}{4} \rho_f \rho_g. \end{aligned} \tag{1.7}$$

Furthermore, if

$$\gamma \leq f(x) \leq \Gamma, \quad \phi \leq g(x) \leq \Psi \tag{1.8}$$

for each  $x \in [a, b]$ , where  $\gamma, \phi, \Gamma, \Psi$  are given real constants, then

$$\begin{aligned} & \frac{1}{b-a} \int_a^b f(x) g(x) dx - \frac{1}{(b-a)^2} \left( \int_a^b f(x) dx \right) \left( \int_a^b g(x) dx \right) \\ & \leq \frac{1}{4} \rho_f \rho_g \\ & \leq \frac{1}{4} (\Gamma - \gamma) (\Psi - \phi). \end{aligned} \tag{1.9}$$

where the constant  $\frac{1}{4}$  is sharp in the sense that it cannot be replaced by a smaller one.

**Corollary 1.3** Let  $f : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) function and symmetric about  $x = \frac{a+b}{2}$ , then

$$\frac{1}{b-a} \int_a^b f^2(x) dx - \left( \frac{1}{b-a} \int_a^b f(x) dx \right)^2 \leq \frac{1}{4} \rho_f^2. \tag{1.10}$$

**Theorem 1.2** Let  $f, g : [a, b] \rightarrow \mathbb{R}$  where  $f$  is convex function and  $g$  decreasing on  $[a, \frac{a+b}{2}]$  and increasing on  $[\frac{a+b}{2}, b]$ , then the inequality (1.5) holds. If  $f$  is convex function and  $g$  increasing on  $[a, \frac{a+b}{2}]$  and decreasing on  $[\frac{a+b}{2}, b]$ , then the inequality (1.5) reversed.

**Corollary 1.4** Let  $f, g : [a, b] \rightarrow \mathbb{R}$  where  $f$  is convex function and  $g$  decreasing on  $[a, \frac{a+b}{2}]$  and symmetric about  $x = \frac{a+b}{2}$ , then the inequality (1.7) holds. If  $f$  is convex function and  $g$  increasing in  $[a, \frac{a+b}{2}]$  and symmetric about  $x = \frac{a+b}{2}$ , then the inequality (1.7) reversed.

## 2. Lemmas

**Lemma 2.1** Let  $f : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) function, then

$$F(x) = \frac{1}{2}(f(x) + f(a+b-x)) \quad (2.1)$$

satisfy the following:

- (1)  $F$  is convex (or concave) function.
- (2) For all  $x \in [a, b] : F\left(\frac{a+b}{2}\right) \underset{\geq}{\leq} F(x) \underset{\leq}{\geq} F(a) = F(b)$ .

*Proof:* (1) Let  $f$  be a convex function. For all  $x, y \in [a, b]$  and  $\lambda \in [0, 1]$  we have

$$\begin{aligned} F(\lambda x + (1-\lambda)y) &= \frac{1}{2}(f(\lambda x + (1-\lambda)y) + f(\lambda(a+b-x) + (1-\lambda)(a+b-y))) \\ &\leq \frac{1}{2}(\lambda f(x) + (1-\lambda)f(y) + \lambda f(a+b-x) + (1-\lambda)f(a+b-y)) \\ &= \lambda \left( \frac{1}{2}(f(x) + f(a+b-x)) \right) \\ &\quad + (1-\lambda) \left( \frac{1}{2}(f(y) + f(a+b-y)) \right) \\ &= \lambda F(x) + (1-\lambda)F(y). \end{aligned}$$

Hence  $F$  is convex function.

(2) Let  $f$  be a convex function, we have

$$F\left(\frac{a+b}{2}\right) = F\left(\frac{a+b-x+x}{2}\right) \leq \frac{1}{2}F(x) + \frac{1}{2}F(a+b-x) = F(x) \quad (2.2)$$

and

$$F(x) = F\left(\frac{x-a}{b-a}b + \frac{b-x}{b-a}a\right) \leq \frac{x-a}{b-a}F(b) + \frac{b-x}{b-a}F(a) = F(a). \quad (2.3)$$

**Lemma 2.2** [4] Let  $f : [a, b] \rightarrow \mathbb{R}$  be convex (or concave) function, then

$$F(x) = \frac{1}{2}(f(x) + f(a+b-x))$$

is decreasing (increasing) on  $\left[a, \frac{a+b}{2}\right]$  and increasing (decreasing) on  $\left[\frac{a+b}{2}, b\right]$ .

*Proof:* Suppose that  $f$  is convex function and using the same proof for concave functions. Let  $x, y \in [a, \frac{a+b}{2}]$  such that  $x \leq y$ , then there exists  $\lambda \in [0, 1]$  such that  $y = \lambda x + (1 - \lambda) \frac{a+b}{2}$ . Since  $F$  is convex function then we have

$$\begin{aligned} F(y) &= F\left(\lambda x + (1 - \lambda) \frac{a+b}{2}\right) \\ &\leq \lambda F(x) + (1 - \lambda) F\left(\frac{a+b}{2}\right) \\ &= F(x) + (1 - \lambda) \left(F\left(\frac{a+b}{2}\right) - F(x)\right), \end{aligned}$$

by Lemma 2.1 we get  $F(y) \leq F(x)$  then  $F$  is decreasing in  $[a, \frac{a+b}{2}]$ . Now, let  $x, y \in [\frac{a+b}{2}, b]$  such that  $x \leq y$ , then there exist  $\lambda \in [0, 1]$  such that  $x = \lambda y + (1 - \lambda) \frac{a+b}{2}$ . Since  $F$  is convex function we have

$$\begin{aligned} F(x) &= F\left(\lambda y + (1 - \lambda) \frac{a+b}{2}\right) \leq \lambda F(y) + (1 - \lambda) F\left(\frac{a+b}{2}\right) \\ &= F(y) + (1 - \lambda) \left(F\left(\frac{a+b}{2}\right) - F(y)\right), \end{aligned}$$

by Lemma 2.1 we get  $F(x) \leq F(y)$  then  $F$  is increasing in  $[\frac{a+b}{2}, b]$

### 3. Proof of Theorems

**Proof of Theorem 1.1:** First, without loss of generality we suppose that  $f$  and  $g$  are convex functions and we denote by  $F$  and  $G$  the following functions

$$F(x) = \frac{1}{2} (f(x) + f(a+b-x)),$$

$$G(x) = \frac{1}{2} (g(x) + g(a+b-x)).$$

Since  $f$  and  $g$  are convex functions, and by using Lemma 2.2 and Lemma 2.1 we deduce that  $F$  and  $G$  having the same variation and

$$F\left(\frac{a+b}{2}\right) \leq F(x) \leq F(a) = F(b),$$

$$G\left(\frac{a+b}{2}\right) \leq G(x) \leq G(a) = G(b),$$

for each  $x \in [a, b]$ . Then by applying Grüss inequality for  $F$  and  $G$  and by using Chebychev's inequality, we obtain

$$\begin{aligned} & \left| \frac{1}{b-a} \int_a^b F(x) G(x) dx - \frac{1}{(b-a)^2} \int_a^b F(x) dx \int_a^b G(x) dx \right| \\ &= \frac{1}{b-a} \int_a^b F(x) G(x) dx - \frac{1}{(b-a)^2} \int_a^b F(x) dx \int_a^b G(x) dx \\ &\leq \frac{1}{4} \left( F(a) - F\left(\frac{a+b}{2}\right) \right) \left( G(a) - G\left(\frac{a+b}{2}\right) \right) \end{aligned} \quad (3.1)$$

which we can write as

$$\begin{aligned} & \frac{1}{b-a} \int_a^b [f(x)g(x) + f(a+b-x)g(a+b-x)] dx \\ &+ \frac{1}{b-a} \int_a^b [f(x)g(a+b-x) + f(a+b-x)g(x)] dx \\ &- \frac{1}{(b-a)^2} \left( \int_a^b [f(x) + f(a+b-x)] dx \right) \\ &\quad \left( \int_a^b [g(x) + g(a+b-x)] dx \right) \\ &\leq \frac{1}{4} \left( F(a) - F\left(\frac{a+b}{2}\right) \right) \left( G(a) - G\left(\frac{a+b}{2}\right) \right) \end{aligned} \quad (3.2)$$

Using the identity

$$\int_a^b f(x) dx = \int_a^b f(a+b-x) dx, \quad (3.3)$$

and

$$\int_a^b f(x)g(a+b-x) dx = \int_a^b f(a+b-x)g(x) dx. \quad (3.4)$$

We obtain

$$\begin{aligned} & \frac{2}{b-a} \int_a^b f(x) g(x) dx + \frac{2}{b-a} \int_a^b f(x) g(a+b-x) dx \\ & - \frac{4}{(b-a)^2} \left( \int_a^b f(x) dx \right) \left( \int_a^b g(x) dx \right) \\ & \leq \frac{1}{4} \left( f(a) + f(b) - 2f\left(\frac{a+b}{2}\right) \right) \left( g(a) + g(b) - 2g\left(\frac{a+b}{2}\right) \right) \end{aligned}$$

*TCItag*(3.5)

which is equivalent to

$$T(f, g) \leq \frac{1}{2} \rho_f \rho_g. \tag{3.6}$$

Now, suppose that  $f$  is convex function and  $g$  is concave function, we deduce that  $F$  and  $G$  are oppositely ordered and by using Lemma 2.1, we have

$$F\left(\frac{a+b}{2}\right) \leq F(x) \leq F(a) = F(b),$$

$$G(a) = G(b) \leq G(x) \leq G\left(\frac{a+b}{2}\right),$$

for each  $x \in [a, b]$ . Then by applying Grüss inequality for  $F$  and  $G$  and by using Chebychev's inequality, we obtain

$$\begin{aligned} & \left| \frac{1}{b-a} \int_a^b F(x) G(x) dx - \frac{1}{(b-a)^2} \int_a^b F(x) dx \int_a^b G(x) dx \right| \\ & = - \left( \frac{1}{b-a} \int_a^b F(x) G(x) dx - \frac{1}{(b-a)^2} \int_a^b F(x) dx \int_a^b G(x) dx \right) \\ & \leq -\frac{1}{4} \left( F(a) - F\left(\frac{a+b}{2}\right) \right) \left( G(a) - G\left(\frac{a+b}{2}\right) \right). \end{aligned} \tag{3.7}$$

By same reasoning as above

$$T(f, g) \geq \frac{1}{2} \rho_f \rho_g \tag{3.8}$$

and the proof of Theorem 1.1 is complete.



**Proof of Corollary 1.1:** First, without loss of generality we suppose that  $f$  and  $g$  are convex functions. By Theorem 1.1 we have

$$T(f, g) \leq \frac{1}{2} \left( \frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right) \right) \left( \frac{g(a) + g(b)}{2} - g\left(\frac{a+b}{2}\right) \right). \quad (3.9)$$

Since

$$\gamma \leq f(x) \leq \Gamma, \quad \phi \leq g(x) \leq \Psi,$$

for each  $x \in [a, b]$ , where  $\gamma, \phi, \Gamma, \Psi$  are given real constants, then we have

$$0 \leq \frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right) \leq \Gamma - \gamma, \quad (3.10)$$

and

$$0 \leq \frac{g(a) + g(b)}{2} - g\left(\frac{a+b}{2}\right) \leq \Psi - \phi, \quad (3.11)$$

which implies that

$$\frac{1}{2} \left( \frac{f(a) + f(b)}{2} - f\left(\frac{a+b}{2}\right) \right) \left( \frac{g(a) + g(b)}{2} - g\left(\frac{a+b}{2}\right) \right) \leq \frac{1}{2} (\Gamma - \gamma) (\Psi - \phi),$$

and the proof of Corollary 1.1 is complete.

**Proof of Corollary 1.2:** First, without loss of generality we suppose that  $f$  and  $g$  are convex functions and  $f$  is symmetric about  $x = \frac{a+b}{2}$ . Then

$$f(x) = f(a + b - x), \quad (3.12)$$

for all  $x \in [a, b]$ . Applying Theorem 1.1 and Corollary 1.1 we obtain (1.7) and (1.9).

**Proof of Corollary 1.3:** By setting  $f(x) = g(x)$  in Theorem 1.1, we obtain (1.10).

**Proof of Theorem 1.2:** We denote by  $F$  and  $G$  the following functions

$$F(x) = f(x) + f(a + b - x),$$

$$G(x) = g(x) + g(a + b - x).$$

Since  $f$  is convex functions, then by Lemma 2.1,  $F$  is decreasing on  $[a, \frac{a+b}{2}]$  and increasing on  $[\frac{a+b}{2}, b]$ . In order to prove (1.4) we need to prove that  $G$  is decreasing on  $[a, \frac{a+b}{2}]$  and increasing on  $[\frac{a+b}{2}, b]$ .

Let  $x, y \in [a, \frac{a+b}{2}]$ , suppose that  $x^* = a + b - x$  and  $y^* = a + b - y$  where  $x^*, y^* \in [\frac{a+b}{2}, b]$ .

It's clear that if  $x \leq y$ , then  $x^* \geq y^*$ . Since  $g$  is decreasing in  $[a, \frac{a+b}{2}]$  and increasing in  $[\frac{a+b}{2}, b]$ , then we have

$$g(x) \geq g(y), \quad (3.13)$$

and

$$g(x^*) \geq g(y^*). \quad (3.14)$$

Then

$$G(x) = g(x) + g(x^*) \geq g(y) + g(y^*) = G(y), \quad (3.15)$$

which implies that  $G$  is decreasing on  $[a, \frac{a+b}{2}]$ , by the same method we can prove easily that  $G$  is increasing on  $[\frac{a+b}{2}, b]$ .

Then we have  $F$  and  $G$  having the same variation and

$$F\left(\frac{a+b}{2}\right) \leq F(x) \leq F(a) = F(b), \quad (3.16)$$

$$G\left(\frac{a+b}{2}\right) \leq G(x) \leq G(a) = G(b), \quad (3.17)$$

and by applying Theorem 1.1, we obtain inequality (1.4).

For the case when  $f$  is convex function and  $g$  is increasing in  $[a, \frac{a+b}{2}]$  and decreasing in  $[\frac{a+b}{2}, b]$ , we use the same reasoning as above.

**Acknowledgments.** The authors would like to dedicate this work to the memory of Nekrouf Sanoucia. The authors also would like to thank Dr. Corina Mitroi for her helpful remarks and suggestions to improve this paper. This work was supported by LANDRU, Agence Nationale pour le Developpement de la Recherche Universitaire (PNR Projet 2011-2013).

#### *scReferences*

[1] S.S. Dragomir, *Some integral inequalities of Grüss type*. Indian J. Pur. Appl. Math. 31(4) (2002), 397-415.

[2] G. Grüss, *Über das maximum des absoluten Betrages von  $\frac{1}{b-a} \int_a^b f(x)g(x)dx - \frac{1}{(b-a)^2} \int_a^b f(x)dx \int_a^b g(x)dx$* , Math.Z. 39 (1935), 215-226.

[3] G. H. Hardy, J. E. Littlewood and G. Polya, *Inequalities*, Cambridge 1934,1952.

[4] Z. Latreuch and B. Belaidi, *Like Chebyshev's inequalities for convex functions*. RGMIA Research Report Collection, 14(2011), Article 1, 10 pp.

- [5] D. S. Mitrinović, J. E. Pečarić and A. M. Fink, *Classical and new inequalities in analysis*. Kluwer Academic Publishers, Dordrecht/Boston/London.1993.
- [6] A. McD Mercer, *An improvement of the Grüss inequality*, Journal of Inequalities in Pure and Applied Mathematics, vol. 6, Iss. 4, Art.93 (2005), 1-4.
- [7] C. P. Niculescu, L.-E. Persson, *Convex Functions and their Applications. A Contemporary Approach*, CMS Books in Mathematics vol. 23, Springer-Verlag, New York, 2006.
- [8] J. E. Pečarić, F. Proschan, Y. L. Tong, *Convex Functions, Partial Orderings and Statistical Applications*, Mathematics in Science and Engineering, vol. 187, 1992.

Abdallah El Farissi  
Department of Sciences and Technology  
University of Bechar  
Bechar 08000, Algeria  
email:[elfarissi.abdallah@yahoo.fr](mailto:elfarissi.abdallah@yahoo.fr)

Zinelaâbidine Latreuch  
Department of Mathematics  
University of Mostaganem (UMAB)  
B.P 32 Ain Tedles 27200, Mostaganem, Algeria  
email:[z.latreuch@gmail.com](mailto:z.latreuch@gmail.com)